Sec | - Term 4, Sequences Name ID: 1

Notes: T4-61 Into to Sequences Date Period

Definitions:

A Qr-'q'-we« function whose domain is a set of consecutive integers (list of ordered
numbers separated by commas).

Each number in the list is called a fterm.

» For Example: Domain (a,) — relative position of each

o o=t o (1,2,3,4,5) Usually begins with
Sequence 1 2 position 1 unless otherwise stated.
Tem1,2, 3 4,5 X

a. @A 4,y X4 Range - the actual “terms” or outcomes of
2, 4, 6, 8, 10 k““mg the sequence (2,4,6,8,10)

A sequence can be finite or infinife.
Sequence 2
Term1, 2, 3, 4, 5
The sequence has a last term or final term.
C:;‘ G_.é. ﬂéa-?g ?g, Qg Gy R, --- (Suchasseq. 1)

The sequence continues without stopping.
(such as seq. 2)

Both sequences have an equation or general rule: a,=2n where n is the
term # and a, is the nth term.

The general rule can also be written in function notation: f(n) = 2n

1) Write the first 6 terms of a,, =5 —n 2) Write the first 6 terms of a,, = 2"
ﬂ*=5—':‘{' a1=9|:2
=523 a2=31=4
H3=5__3=Z a; = 23-:8
2= S.y = | ﬂ4=9uf = |G
as=5_.5 =) ﬂ5=g_'5‘:'31
dyp= S~ 6>—

| “= ¢ =64



3) Write the first 6 terms of f(n) = (—2)"* =
a, {—2)“' — é?)a = | _é\‘z’ '_-_?_‘ -.35
(253 {232‘1 = éa}l = & q ¢ q
as {_235-{ :'&2)1- = 4
w2 = 2y = -3
s=EP =)= 16
4= E2)'=CE) =32

Sequences comes in different types of patterns. Write the next 3 terms of the sequence.
4) 5)

By s e W 05 ag, a; (g, s O s gy Wi B By By

1,10, 101,1010, 10101, 11010, WAL, A C, E G, I, &, M, O

Ay
lo1010/C
6) 7)
ay, Gz g, Ay A, [+ P @y, ag, @y, @5, Oy, Gy Qg Gg 45, qg;

2 F 4B & P o] _q____

g7 T3y TS )\ ©}®I©|®|©]®] ©r®'©
Look ob He num diflerent Qrowa

He dengw.

Give two examples of sequence in real life, only one can contain numbers.

oA U - D= B TSy TV peag Fbanacce:

(Y Y ¥Y

9).

Vo2 OC\}.':C.O..Q.‘S Triamﬁl-e_

Yy & 4\
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Sec | - Term 4, Sequences Name

Assignment: T4-61 Into to Sequences Date

1. Here is a pattern of sguares
Pattern 1 Pattern 2

a) Draw pattem 4
b} How many squares will thera be in pattern number 13?7
c]  which pettern has 27 squaras?

2, Herz is a pattern of dots

Pattern 1 Pattern 2
(3 ®
L N ®
o900 00

a) Draw pattem 4
b) Howmany dots will there be in pattem 157

Pattern 3

Pattern3
|/
o
L ]
co000O0OS®

c) Jacksays there are 70 dots in pattern 20. Is he right? You must explain your answer.

3. Here is a made from bricks

Pattern 1 Pattern 2
| I .
| I a

a) Draw pattern4

b) How many bricks will thera be in pattern number 8?
c) Which pattern will have 43 bricks?

d} How many bricks will thera be in pattern n?

Pattern 3

Period



4. Here Is a made fromn white and grey tiles.
Pattarm 1 Pattarn2 Patterm 3

i B P

a) Draw pattern4

b) How many white tiles will there ba in pattern numbar 107

¢} How many grey tiles will there be in paitern 87

d) Miles has 49 grey tiles and 32 white tiles. Which pattern can he make?

e) Emma has S0 gray tiles and 43 whire tilas. Sha says she can make patrtern number 10. She Is incorrect, axpiain wiy.
fi How many more grey and white tiles will Emma need to make pattern number 10.

Find the next three terms in the given sequence.

5. -10,.0,.10,, 20, .., 6. -31,,169, 369, 569, ...

7. 16, 36, 56, 76, 8. 131, 252, 373, 494, 5115,

Find the next four numbers in the sequence and name the sequences (you may have to do
a little research!)

9. 1, 12358, ..

10. 1,131, 13431, 1347431,



